Lecture Notes
Chapter 6: Unemployment and Inflation
The Bureau of Labor Statistics (BLS) computes the ___________ rate and ________ rate and releases them monthly.

1. Unemployment

· Adult population 
· Employed 

· Unemployed 
· Not in labor force
· Labor force 
· Labor Force = # of employed + # of unemployed

· Unemployment rate = 
· Labor force participation rate = 

2. Types of unemployment

· Frictional unemployment –

· Structural unemployment – 

· Natural rate of unemployment – 

· Natural rate of unemployment = frictional unemployment + structural unemployment. 
· In the U.S. economists estimate the natural rate of unemployment is about ___%.

· Cyclical unemployment – 

· Actual unemployment = frictional unemployment + structural unemployment + cyclical unemployment

Chapter 6 (continued)

3. Cost of Living
· Concepts:

Inflation – 

Hyperinflation – 

Deflation – 

Consumer Price Index (CPI) is used to measure the cost of living. The Bureau of Labor Statistics computes CPI monthly.

· What goods and services does the CPI cover?

The CPI represents all goods and services purchased for consumption by the reference population BLS has classified all expenditure items into more than 200 categories, arranged into eight major groups. Major groups and examples of categories in each are as follows: 

Food and beverages
Housing
Apparel

Transportation

Medical care

Recreation

Education and communication

Other goods and services
· How to construct CPI? (Example in next page)
Step 1. Fix the consumer basket
Step 2. Record the price
Step 3. Calculate the cost of the basket
Step 4. Compute the CPI:
CPI of a particular year = 
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4. Computing inflation rate using CPI and GDP deflator. 

Inflation rate in year 2 = 
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5. Problems of CPI

· Substitution bias

· Excluding new goods

· Unmeasured quality improvement

6. Phillips curve

Example: How to Construct CPI

Step 1. Fixed the consumer basket 

(Assume the survey year is 2003; only two goods in the basket: pizza = 25, beer = 100)

	
	Pizza
	Beer

	Year
	Price
	Price

	2004
	
	

	2005
	
	


Step 2. Record the price of the two goods

Step 3. Calculate the cost of the basket

Cost (2004) =

Cost (2005) =

Step 4. Compute the CPI:

CPI of a particular year = 
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Let the base year be 2004:
CPI (2004) =

CPI (2005) = 

Inflation rate (2005) =

Question: given the information above, is it possible to compute the inflation rate of 2004? Why?
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